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Solutions

sin(θ) = 12/15 = 4/5

sin(θ) = 2/4.5 = 4/9 sin(θ) = 25/54

sin(θ) = 6/6.7 = 60/67

cos(θ) = 9/15 = 3/5
tan(θ) = 12/9 = 4/3

cos(θ) = 48/54 = 8/9cos(θ) = 4/4.5 = 8/9

cos(θ) = 3/6.7 = 30/67

tan(θ) = 25/48tan(θ) = 2/4 = 1/2

tan(θ) = 6/3 = 2

SOHCAHTOA
sin(θ) = opp/hyp
cos(θ) = adj/hyp
tan(θ) = opp/adj
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sin(A) = 7.5/15 
  = 0.5000

cos(A) = 13/15 
   = 0.8667

tan(A) = 7.5/13 
   = 0.5769

sin(A) = 5/6 
  = 0.5000

cos(A) = 3.3/6 
   = 0.5500

tan(A) = 5/3.3 
   = 1.5152

sin(A) = 18/24.1 
  = 0.7469

cos(A) = 16/24.1 
   = 0.6639

tan(A) = 18/16 
   = 1.125

SOHCAHTOA

sin(θ) = opp/hyp cos(θ) = adj/hyp tan(θ) = opp/adj

b)  0.7071
d)  0.6018
f)  0.0000
h)  0.5000

Recall:

Obviously, TAN could be SIN or COS depending 
upon the information given in the question.
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b) θ = 30Ο

d) S = 42Ο

f) A = 72Ο

h) θ = 24Ο

j) θ = 86Ο

l) θ = 0Ο

Recall: Obviously, TAN could be 
SIN or COS depending 
upon the information given 
in the question.

a) sin(25) = x/13
    13sin(25) = x
    5.5 cm = x

g) sin(55) = 15/x
    xsin(55) = 15
    x = 15/sin(55)
    x = 18.3 cm

e) sin(61) = x/55
    55sin(61) = x
    48.1 cm = x

c) sin(33) = x/24
    24sin(33) = x
    13.1 cm = x

sin(θ) = opp/hyp
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d) sin(65) = x/32
    32sin(65) = x
    29.0 cm = x

f)  sin(50) = 12/x
    xsin(50) = 12
    x = 12/sin(50)
    x = 15.7 cm

h) sin(41) = 18/x
    xsin(41) = 18
    x = 18/sin(41)
    x = 27.4 cm

b) sin(66) = 5.6/x
    xsin(66) = 5.6
    x = 5.6/sin(66)
    x = 6.1 cm

sin(θ) = opp/hyp

a) D

EF

6.0 km

44Ο

    sin(46) = y/8.6
    8.6sin(46) = y
    6.2 km = y

    sin(44) = 6/x
    xsin(44) = 6
    x = 6/sin(44)
    x = 8.6 km

b) Solving a triangle means to 
find all the missing information.

<D = 180 ­ 90 ­ 44
<D = 46Ο

D

EF

6.0 km

44Ο

x

y

sin(θ) = opp/hyp
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2 m

70Ο

x

    
sin(70) = 2/x

    xsin(70) = 2
    x = 2/sin(70)
    x = 2.1 cm

Height of tree  = 2 + x

= 2 + 2.1

= 4.1 metres

sin(θ) = opp/hyp

    sin(48) = x/10
    10sin(48) = x
    7.4 cm = x

    
sin(y) = 7.4/12
 y = sin­1(7.4/12)
 y = 38Ο

sin(θ) = opp/hyp
A good strategy is often to solve the variables 
in alphabetical order. In this case we have to, 
because we need to know x to solve for y.
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